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Q1

Q2

LM-A

SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS

The ages of husband, wife and their son are

in the ratio of 10: 9 : 3. To calculate the age

of the son, which of the below pieces of
information is additionally required and
sufficient?

(A) Before 6 years, the age of the son was
20% the age of his mother then.

(B) After 10 years, the sum of the ages of
all three will be 30 more than the sum
of their present ages.

(C) Thedifference between the age of
father and son is more than the
difference between the age of mother
and son.

(D) Thesum ofthe ages of all the three isa
perfect multipleof 11, i

The perimeter of a rectangular ground with

corners A, B, C & D is 28 metre. To

calculate the area of the ground, which of

the below pieces of information is additionally

required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD.

(B) The sum of the diagonals is 8 metre less
than the perimeter of the rectangle,

(C) The perimeter of the rectangle is greater
than 50% of the area of the rectangle,

(D) The sum ofall the internal angles of the

rectangle is 360°,

FLEEYLE?

Ql

Q2

uftt, oil 3R S 43 W Iy F U

10:9:381 93 & I & T T B

fore, P & @ g @ 5w o

% afaRen &1 4 Imwwsar e o

yafe +§ e

(A) 63 4, U ) Y TH FHG ITHS!
| & ang A 20% <t

B) 10ad @, fHF & 3y @1 A,
TSI AT Y @ AT 30 v
BT |

(C) fmm afR g3t & wey Ay 1 aiew, 1
3R g3 @ 7o Ay B S | wfw
2

(D) 1 &t 3wy H AT 11 & ot g
gl

A, B, C 3R D &Fl a8 smgaar M

&1 A 28 Hiew ) fem @ dEwd

A e @ fag, Pefafea d/gan @

fFw sim & afiRe 0 | smwsm

erft ot s @ g

(A) fawvi AC @t warg Sait & Forerdl
fawot BD 2 warg #)

(B) Iga & Aol &1 9 amaa @
gRAT | 8 fiey o9 B

(C) 3maer &1 uRem, anaa & Saed @
50% aftiw &)

(D) 3maa @ Wit anafRe st &1 g
360° & |
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Q4
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We nead to find the value of ‘a’ from the

below two equations, if both a and b are

positive integers.

) 2a+b=22
2) Ja-2b=12

Now, read the below options and select the

one that applies.

(A) Only Equation | is sufficient to derive
the value of *a’.

(B) Only Equation 2 is sufficient to derive
the value of ‘a’.

(C) Neitherequations | or 2 alone are
sufficient, but both together are required
to derive the value of ‘a’.

(D) The valueof‘a’ cannot be derived by
any individual equation or even by both

equations combined.

Ifin acoded language ‘PEASANT is written
as ‘RQYVYHN’, how will ‘RANCHER ' be
written in the same language?

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

Q3

AR TR

Q4

afe a 3R b T e QUi # o
frrafafaa oot 4 & 2 =1 99
S BT BT |

1) 2a+b=22
2) 3a-2b=12

@, Fe=feia Reey g afiv =9 6 o
W fawcy @ 81, SwE wua #fg )

(A) ‘a’ & 9F 991G &9 @ fau #aa
@Y | gaie

(B) ‘a’ & W o@ & & oy @aa
HHrEor 2 ugie B

(C) ‘a’ &1 "M T06 & & fog =1
e W | qaia & ofie W &
. bl wHrEveT 2 vate 8, adg @
e # amawaa g

(D) ‘a' @1 W & N e Wi 9
& s fsan on WM &, uel 0%
fer =41 it & Wgaa w9 40
781 sma far on waen &)

U& @ W A afk ‘PEASANT &
‘RQYVYHN’ feran omm &, @ o e
w9 § ‘RANCHER" @ %1 forar s
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP
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Q5

Q6

Q7

Study the given table carefully to answer the Q5
question that follows.

Sale (in crores) of no, of units by four

companies (cos.) over the years (yrs).
Co.yr| 2015 | 2016 | 2017 |2018
A | 1158 | 857 | 589 466
B 150.1 | 76.3 | 37.2 [ 39.]
C | 933 | 695 | 53.7 |4R.9
D |1806 | 111.1] 21.2 [334

Which company has sold the maximum num-
ber of units over the years?

(A) A

(B) B

{C)C

(D) D

21708812

If P+Q impliesP-Q Q6
P-Q impliesP=0Q
PxQimpliesP+0Q
P+QimpliesP+0Q

Which ofthe following is TRUE?
(A) 1+2-6%x3+8=8
B) 6+2-3x1+4=12
(C) 25+6-45x9+23=18
(D) 10+44-3x]+2=35

Find the odd one out of the below Q7
geometrical shapes.

Rhombus, Triangle, Square, Parallelogram,
Rectangle, Trapezium

(A) Rhombus
(B) Triangle

(C) Parallelogram
(D) Trapezium

LM-A 5

fr=fafaa ofee &1 1k 9 w@ 3R
oS e 3y U e &1 9an ¥

ar Fefral g™ Riod 5o adl 4 A T

gfes @1 fal (@3S )
#./@| 2015 | 2016 | 2017 [_:_u_l_ag_
A _|1158] 85.7 | 589 466
B _[1501{ 763 | 37.2 |39.]
C [933 | 695 [ 53.7 |489
D_|180.6 | 111.1[ 21.2 [334

fioe e aul & fa S 3 AfdET
W # gfrew ot fm a7

(A) A
(B) B
(€ C
(D) D

e P+Q #Tad BP-Q,
P-QT 3l 8P xQ,
PxQ@®r aef EP+0Q,
P+Qwr aef & P+Q, a0

f=fafaa § & 19 w1 FoF Wy 27
(A) 1+2-6x3+8=8

B) 6+2-3x1+4=12

(C) 25+6-45x9+23=18

D) 10+4-3x]|%2=35

Fr=ifoafaa smfcha arefat § @ =
e & geEE AR

e, g, o, wior e, e,
wHerE A

(A) FHag

(B) Prga

(C) e Fe
(D) wHer A
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Find the odd one out from the below group
of names.

Guava, Watermelon, Lettuce, Apple, Kiwi,
Mango, Pear, Pomegranate

(A) Lettuce

(B) Kiwi

(C) Pear

(D) Pomegranate

Study the below diagram and identify the
option that is NOT correct.

Goat

(A) Some lions are not goats
(B) Some goats are lions
(C) Lions are not singers
(D) Some goats can sing

Q8

Q9

frefafea wm el ¥ @ swma @
uEAr O |

ATYRR, 3R

(A) HETE—g
(B) #d

(C) =Tegwi
(D) &R

frifofen st &1 seggs =8 v o9
ey &1 999 & o 9 T8 2

O,

TIH

(A) g IR Tofal 78 §
(B) #¥ aftai Ix &
(©) ¥R wmuw 7€ &
(D) ®© FHRal 7 wad §
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Q10 Two positions of a dice are shown as below.
Ifthe number 6 is exactly opposite to number
4, then which number is exactly opposite to
number 37 ;

(A) 1
®) 2
© 3
(D) 6

Q11 Deepak left his home and walked 4 km
towards east, then turned left and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
east, then turned left and walked 8 km to
reach her college. What is the shortest
distance between the office and the college?
(A) 10km
(B) 13km
(©) 17km
(D) 18km

LM-A
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Q10 F=fefan & v v & =7 Rufag

Ql1

weftia @ 7 &) aft wem 4 90 v
& faema favda 6 8, o Wewm 3 T

T @ faogd AT B9 @ Her &7
(A) 1
® 2
©€) 5
D) 6

9% i WM @ fore ege ww @
e 4 km QX9 & R T 8, i
N §2 & 3 km 9o & | 9HS 89
it #fea oM @ fag o = A
Frae®Y 16 km X9 & 3N Fer &, afiv
R g 98 F 8 km wewil 8| aiifhw
3R Bieer & W AaA 0 feed 87
(A) 10km
(B) 13km
(C) 17km
(D) 18km
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Q12 Ifthe pentagon shown below is rotated anti- Q12 zfz Fr=fefae 8 uvefila UG @ HEl
clockwise 270° three times, the rhombus is 1 ﬁ-g @ faudg e 4 &9 aw 270°
rotated clockwise 45° four times, and the _ YA ST €, wwagds 6l A g A
mirror image of the alphabet is used, then feem # =R 4R 45° gAE o 2, R
what is the resulting figure? e @1 gdvr gfafda sy fBar o

& o uRT s B W e

58881

(A)
(B)
(©)
(D)
LM-A . 8 SERIES-A-G




Q13

Q14

Below is a statement followed by two
conclusions, Read the statement and
conclusions and determine which
conclusion(s) logically follow(s) the statement
given.

Statement:

For late retum of books by readers, a library
charges penalty of T 10 per day for the
number of days of delay beyond the due date.

Conclusions:

I)  Penalty for costlier books will be
higher.

I}  Penalty for lighter books will be lesser.

(A) Onlyconclusion | follows

(B) Onlyconclusion Il follows

(C) EitherconclusionIorIl follows
(D) Neither conclusion I nor I follows

Choose an option that is a valid assumption
for the below statement.

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacations,

(A) During vacations, kids love to travel by
trains instead of acro planes.

(B) Passenger traffic in trains significantly
increases during vacations.

(C) Peopleneed change and like to see new
trains during vacations.

(D) Enginedrivers like to work for more
hours during vacations,

LM-A

Q13

Ql4

Frmferae ve oo aflv oww wakm &
e fag 7 & | P oin Pt o v
AR FEifa & & o= /@ ol
ifd® w9 F &y 77 e B ageR
B/ T B /8 |

Gl B

UF qHidad Tenl g fide 9§ gwa
9 S O, g @ i B $
s Mo AT s v e Raz 0@
yelgs AT 81

Frep:

D wEl qeast @ fog aedds afte
BT

) &&l gwasl & fog aefEs @9 8y

(A) et Frepd | arqemor v &

(B) dae Fresd 1T argemyr ovar &

(C) @ ot Frsd 1 a7 fFresd 11 srgemeT
HT &

(D) = ar frepd 3l = & fFrasd 11

RO T &

94 f@en @ gg= Fifo o Feafafea
wue & forg A qdumeT §

U

wm#g@ﬂﬁmﬁmm'

w7 "o & aur o oAt # afoRen
fe=t e €|

(A) gfedl & 9= g wera @ g
= ¥ UTAT T THE BN & |
®) gftal @ e et e A e
a5 Wl 8

(C) = wfEal % agam ey & ik =
o ST UHg $ £

D) g5 aE wiRAl A e 6
HYAT UHG BN B |
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QI35

Ql6

Read the statement below and two courses
of action given. Choose which course(s) of
action need(s) to be taken with regard to the

Statement:

Despite having a standard work timing of 10
am to 6 pm, there has been more number of
cases of employees reporting late for work,
which affects the work flow in the factory.

Courses of Action:

I.  Theemployees must be givena
waming and strict disciplinary action
must be initiated if no improvement is
found.

Il. Thework timing must be made flexible
so that everyone is able to come as
per his or her own convenient time.

(A) OnlyAction | needs to be taken

(B) Only Action Il needs to be taken

(C) Either Action [ or Action Il needs to
be taken

(D) Neither Action I nor Action Il needsto
be taken

If Puzzle :: Solve, then Essay :: ?. Identify
what can come in place of *7".

(A) Resolve

(B) Dictate

(C) Recite

(D) Write

LM-A
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Ql6

frafarftan Tum &1 alw 99 g €1 78
1 frmfafi &1 g 99a # fF fav
M HYA & el # @ 9 Genfa s
frenfaferat smarg o =nfae

e

HH-PIA o GHFG AR ga§ 10 79
W GG 699 7@ 8 B ardofE, T A
HEA A1 ¥8 B & SHan) & w8 9
It & s s § S-an wifaa
BIT &1

franfafer:

1. FHH=REl & gemae @ W & afy
S YuW TEI e 8, A o fawg
BN AT Hraard! &
AT |

1. @ & safe W 8wty R
TS PHAN I FlAEeES wia
UY HH 9¥ 3 6D |

(A) aa frarfafey | sgeng o e @

(B) @aa feanfaf 11 arg=ng o |l 8

(C) @ @ Brafafy 191 11 e o
ot 8

(D) = o fsnfafey 13l = & frafafe n
JYATE O el &

ofe ugell ;; W, o e o 7 fafesa
N & ywfaes () & WA W

Freiferfaa # & #1911 = a1 Haan 87
(A) &
(B) feraar
(C) 3rgara+
(D) ferg
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Q18

Q19
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Select the option that is related to the third
term in the same way as second term is
related to the first term.

Temperature : Thermometer :: Humidity : ?
(A) Spectrometer
(B) Seismometer
(C) Hygrometer
(D) Osmometer

In a certain coded language, if “LITMUS"
15 written as “SMIUTL" and “INDIGO" is
written as “OINGDI™, then how is the word
‘JAGGER" would be written in that
language?

(A) RGAEG)

(B) RGIEGA

(C) RGAGEJ

(D) RGIEAG

Ina certain coded language, if “TABLE' is
written as ‘“VEDNI' and ‘CHAIR’ is written
as ‘EJEOT’, then how is the word
‘BENCH" would be written in that
language?

(A) DIPFJ

(B) DGPEJ

(C) DIPE)

(D) DGPFT

If P@Q means P is the husband of Q; J#L
means L is the son of J; and N$M means N
is the brother of M, then which of the below
options definitely states that B is the mother
of A?

(A) A#BSC@D

(B) CSD@A#B

(C) BSCH¥A@D

(D) D@B#CSA

106 L BGEE

11!

Q7 W R sTa T S AT g 9
oY RE | WAl ? o v @ T
T UEd e 9§ wafea g

Q18

Q19

Q20

dnE : gEiiey - arEar: ?
(A) gy
(B) Wreifes
(C) sEufieR
(D) aifemires

s @me W § aft “LITMUS” @
“SMIUTL" feran mar & aem “INDIGO”
®1 “OINGDI" foran wman 8, ot s+t @
WM i W& ‘JAGGER' &1 &9 foran
WY

(A) RGAEGJ

(B) RGJEGA

(C) RGAGEJ

(D) RGIEAG

U e 9 A 4ft “TABLE’ &1 ‘VEDNI'
ferear awem & T ‘CHAIR® &1 ‘EJEOT’
feran omen &, o 99 g A # BENCH’
@ 9 foran ame?

(A) DIPF)

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

aft P@Q @1 3f & 5 QT ufy P&,
JHL @1 3ref & 6 J @1 g3 L R; siv NSM
&1 el & 5 M @1 i N &, o Prefarfaa
i 9 B W R ghfaa awa @ &
A#® B E?

(A) A¥BSC@D

(B) CSD@A#B

(C) BSC#A@D

(D) D@B#CSA
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Q21

Q22

Given below are four statements followed by
four conclusions. Identify which
conclusion(s) definitely follow(s) the given
four statements disregarding the commonly
known facts.

Statements;

1. Alldogsarecats

2. Some cats are tigers
3. Alltigersarelions
4. Nolionisadonkey

Conclusions:

I[) Somecatsare dogs

II) Alllions are tigers

III) Some donkeys are tigers
IV) WNotigerisadonkey

(A) Onlyconclusion I follows

(B) Only conclusions Il and IV follow
(C) Onlyconclusions Il and ITI follow
(D) Only conclusions | and IV follow

Ifthe below alphabets are formed as per the
ascending order of their appearance in the
standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4% 6% 9" and 16"
position from left?

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME

LM-A
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Q21

Q22

fr=ifoiftea § In w9 v 9ud 915
gR fepy faw v | ffto = 5 oW
/¥4 fred Ry v FeEt &1 fifdea
WY | A e &/ o 8 4
| WY W S oeat § e eh

FY:
1. il o fafeer &
2. oo fafeewi amg §
3, Wit ag IR §

4, FE IN TN AE B

frrend:

N %o R gw &
I Wit 9w amg &

1 @o T &g §

IV) @IS are ey 78 &

(A) Pad e | agEwoT Fvar @

(B) @ae Fresd 11130 1V argavr #x
[

(C) @aa fssd 11 3w 11 argewor e
&

(D) @acl FAemd 13l IV T80T v
g

Ift Frefofted sl & 7Fe aofeq &
TN HE A F T A, A 4w
¥ ugd, 99, B8, 74 iR Hiowd wE
arel SEN | S A1 Aeigyl e e
A & wwar 87

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
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Q23 Study the below series and identify what can Q23
come in the place of “7".

GAS27, IEU35, MIY47, OMA29,
SOE39, USI49, ?

(A) WUMS57

(B) WWO6I

(C) YUMS9

(D) YWN62

Q24 Study the below series and identify what can Q24
come in the place of “7",

3947, 4379, 7493, 9734, 7
(A) 9437
B) 7934
(C) 4793
(D) 3947

Q25 Ifthe symbols*+" and “-" are interchanged, Q25
“x" and “+" are interchanged, and also the
digits “3" and “7" are interchanged, then
what will be the value of the below equation?

83x7-1+63+7
(A) =133

(B) -350

(C) 244

(D) 511

LM-A 13

Prfefra e @ IR s s
gwfaed (“77) & WF W F19 9 99
QT |

GAS27, IEU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS?

(B) WWO61

(C) YUMS9

(D) YWN62

Prfafaa saar s @ iR s &
yeifag (“7) & W W $19 @ §8n
et |

3947, 4379, 7493, 9734, 7
(A) 9437
(B) 7934
(C) 4793
(D) 3947

afy Frafefee wftewor § <+ ek o
P UH-gEn § 7o R g, o AR
“+ B UH-gEN ¥ Ta e o,
Fe) “3" R “7" B N TN | TTA
frar we Y e R o wieTor @ we
1 B

83x7-79+63+7
(A) - 133

(B) -350

(C) 244

(D) 511
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Q26 United States is the country with the world’s

largest GDP. Which country comes second
in the global GDP ranking?

(A) Japan

(B) Germany

(C) China

(D) India

Abdelaziz Bouteflika, the President of
____,hasresigned in April 2019 bowing
to public pressure,

(A) Sudan

(B) Libya

(C) Chad

(D) Algeria

Name the new CEO of the International
Cricket Council (ICC) after the Cricket
World Cup 2019.

(A) Sunil Gavaskar

(B) Sharad Pawar

(C) Manu Sawhney

(D) RahulJohn

Name the ex-CEO and MD of Ashok
Leyland who took over as the CEQ of Royal
Enfield.

(A) Vinod K. Dasari

(B) Dheeraj Hinduja

(C) RajeevDubey

(D) G.V.Prasad

Q26 wHgEF vog IARE gFa &1 waW q@

GDP (9&a 290 Sane) aren 2w &) @
w1 2w 3fRaw GDP M o Tl e w
T 87

(A) ST

B) W

(C) =¥

(D) s

__ & i) @ sy qochia
1 3 2019 % Sean @ Taw @ am
gF BgY gwirer 3 faar &y

(A) &=

(B) wifar

(C) =rs

(D) Jwuitfar

ffde fea &v 2019 @ am sieeisha
fpehe uftez (1CC) & 7y ¥dah & 7m
TEY |

(A) i A

(B) YT aw

(C) #q wrE

(D) Wge SiEd

aed ofidfs @ qd Wil ol wid) @
w1 A & s o vdiles @ didan
& w9 s wirer 87

(A) fase & gard

(B) divw fEgom

(C) Wia ga

(D) W4 vag
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Name the cricket team that is number 2 in
international test ranking, as per ICC, as of
March 2019,

(A) New Zealand

(B) SouthAfrica

(C) Australia

(D) England

Who was chosen as the captain of the Delhi
Capitals team for IPL 2019 season?

(A) Virendra Sehwag

(B) Ravichandran Ashwin

(C) Shreyas lyer

(D) Shikhar Dhawan

In which state has the National Cancer
Institute (NCI) been set up in early 20187
(A) Rajasthan

(B) Punjab

(C) Haryana

(D) Himachal Pradesh

Which is the leading areca nut producing state
in India?

Q30 #rd 2019 T IR AADN B ITEN,

R arerisfia 2w ¥ A saw 2w
am aredt fvbe € @& Am @ &7
(A) =it

(B) =ffor sfrer

(C) sifferm

(D) §ts

IPL 2019 ¥ & fore el #ftea &
wern B w9 A R g Tar 87

(A) 4z wEam

(B) WMaw aftaw

(C) #us Iuw

(D) frae ga=

2018 @ vama H e ww | wshiy
@Y T (National Cancer Institute
(NCI)) wnfter 5 wran &7

(A) T

(B) woTa

(C) R

(D) fwras waw

a0 U@ YUl SuEd e
Prefafea 34 & @5 @ &

(A) Kerala (A) &

(B) West Bengal (B) uftam Fma
(C) Manipur g (€ wPmR

(D) Karnataka :":i‘. (D) Ple®

SERIES-A-G
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Q34 Name the 70-year-old lady from Odisha Q34 ahfEwm & 9w 70 offa wRe & & MW

who was awarded the Padmashri award for & fore oites W Al uer @ ae @il
her work of preserving of hundreds of types ® e & B 3 fere guieh) qren 9
of paddy seeds throughout her life. wanfe fasar Tar?

';g (A) S.Thimmakka (A) v e

» (B) Kamala Pujari (B) Wl T
(C) Harika Dronavalli (C) sRe Zomash
(D) Muktaben Pankajkumar Dagli (D) AW GHAGAN T

Q35 The first areca nut to get the Geographic Q35 el yord waeh Wat e & for Wi

Indications (GI) tag is the Sirsi Supari. In Haas (GI) 27 9ra gan & | 9w gy
which state is this supari grown? f5e wrsg 9 o Wl &7

(A) Kamataka (A) FFile®

(B) Bihar (B) fasw

(C) Andhra Pradesh (C) 3 wg

(D) Odisha (D) anfam

Q36 Inwhich town of Uttar Pradesh would one Q36 TR WEW & frw e A 1) wfen ue

find the 11 storied Pagal Baba Temple? aman Wit e
(A) Vrindavan (A) TR
(B) Varanasi (B) AR
(C) Samath (C) W™
(D) Chitrakoot ©) fore
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Q37 Thetomb of which of these ancient emperors
is located in the Sasaram town of Bihar
state?

(A) Bahadur Shah Jafar
(B) Alauddin Khilji
(C) Sher Shah Suri
(D) Qutb ud-Din Aibak

Q38 Theareacalled Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh — Bihar Border

(B) Uttar Pradesh — Madhya Pradesh

Border
(C) Uttar Pradesh — Nepal Border
(D) Uttar Pradesh — Uttarakhand Border

Q39 Computer tools such as Word, Excel and

Power Point are products owned by which
of these companies?

(A) Tntel

(B) Apple

(C) Microsoft

(D) Google

LM-A
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Q37

Q38

Q39

faER oy & wrarm w1 Frefafa
fow wrds wwe &1 weaw frug 82
(A) WETSY WE THY

B) warsls faadh

(C) ¥rewme g

(D) FIF-IT-4 A

s e &7 Frefafan i b
@ aferfa aman 82

(A) 9T WY — fasw

(B) SR WY — Weg waw ¥

(C) T wa&w — “gre Hr

(D) TR waY — Iewravs e

TYeR B o0 N 75 Word, Excel iR
Power Point Fr=ifram # ¥ R wwh
@& Weae &7

(A) Intel

(B) Apple

(©) Microsoft

(D) Google

T
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Q40

Q41

Q42

LM-A

Timothy Donald Cook, popularly known as
Tim Cook, is the Chief Executive Officer
(CEOQ) of which of these companies?

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

In the context of Microsoft Word, there isa

feature called ‘Gutter Margin'. What is this

feature used for?

(A) Improve the clarity of graphics and
images

(B) Give provision for better document
binding

(C) Improve the clarity of the printed text

(D) Facilitate the insertion of page numbers

Which of these districts of the state of Uttar
Pradesh does NOT share its border with
Nepal?

(A) Pilibhit

(B) Shravasti

(C) Sitapur

(D) Maharajganj

GOGLISTE
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Q40

Q42

feweh grree @@, fo fon o & ™
| e wen 8, Frefafea 4 @ e
7 @ qE@m sdas Aftrs™d
(Chief Executive Officer (CEO)) #7

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

Microsoft Word @& w& # wrev il

ame vy @ Freafeafag @ e

forg suam fsar @ 87

(A) miaw 3w faal & wem 1 gar
& & fag

B) e Sfaypic T & wEva @
ferg

(C) fiRks 2ave & wWear # gur &
& forg

(D) g werRil # e @ gl verE
& @ forg

IR WA U & B forer Aue @
e oAl W arEn e e 87
(A) teirira

B) )

(C) ¥R
(D) WEWIOTTa
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Q43  Which of these districts of Uttar Pradesh lies

on the UP-Bihar border?
(A) Basti

(B) Bulandshahr

(C) Banda

(D) Ballia

Name the national leader who undertook a
marathon walk called ‘padayatra’ from
Kanyakumari to Rajghat in Delhi in 1983.
The intent of the yatra was to renew rapport
with the Indian masses.

(A) Chandrashekhar

(B) LK Advani

(C) Ram Vilas Paswan

(D) VP Singh

Q45 Name the Indian Prime Minister who

announced in the parliament that he would
implement the Mandal Commission’s
nation-wide protests in India.

(A) RajivGandhi

(B) V.P.Singh

(C) Chowdhary Charan Singh

(D) Chandrashekhar

LM-A
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Q43

CO5 LG0T g

Q45

I W W P 6 e v we
3 fagw @t ¥ o Rem 87

(A) awh

(B) FelawEe

(©) afer -

(D) afern

T8 T 9§ Uy T € O ad 1983

A e @ oae fieeh @ worere

a® gEarEr e wem g few
@ @7 gu aran o1 St wwda e
@ WM FAg I TG S ol
(A) TwaER

(B) aEger yreari

(C) wwidErs yrea=

(D) & fe

i g s @ g A RrE
wag A g8 umonm @ e 5 9w visa
s & Rt 1 @ F0°
Hon { wRe A Swerd A 4w @
T |

(A) wofra it

B) fif fiw

(C) wher® wwvr Ris

(D) Ty
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Q46

Q48

LM-A

Which city in Uttar Pradesh is called ‘suhaag
nagari’ because itis famous for making glass
bangles?

(A) Firozabad

(B) Gorakhpur

(C) Varanasi

(D) Bareilly

Who among these following leaders is also
the head priest of the Gorakhnath Temple
and Math?

(A) Uma Bharati

(B) YogiAdityanath

(C) Sri Sri Ravi Shankar

(D) Mahant Paramhans Das

Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathura

(B) Ayodhya

(C) Jhansi

(D) Varnasi
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Q46 U WaAY B fpw wex @ gemr A’

SUSLLEEE

Q48

@B O 8, 48 ey wia @ iyl
= @ fog uferg 82

(A) fsdomarg

(B) TvER

(C) ammrh

(D) ¥t

PR it % 2 e e
WY 3R we @ g= gord i &7

(A) @ e

®) arf snfermy

(C) =it =it ¥R wiwR

(D) w&a e T

m.wwﬁa'wﬁmﬁw;zﬂ
391 gEer ey far e, aw Fr=fefa
5 wev @ a5 Todls fem &7

(A) o

(B) e

(C) st

(D) VT
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Q49

Q50

Q51

Q52

Which part of Uttar Pradesh is famous for
the delicately embroidered sarees called
“Chikankari sarees™?

(A) Moradabad

(B) Lucknow

(C) Meerut

(D) Prayagraj (Allahabad)

Name the poet and saint who wrote

Ramcharitmanas, another version of the -':

Ramayan.
(A) Ravidas
(B) Surdas
(C) Kalidas
(D) Tulsidas

Name the South Indian King who
vanquished the forces of the Dutch East India
Company in 1741 in the battle of Colachel.
(A) VeeraPandya Kattabomman

(B) Raja RajaChola

(C) Marthanda Varma

(D) HaiderAl

Name the famous warrior begum from the
principality of Awadh, who fought the British
aﬁpm'tufﬂn:'lﬂi'?mutiny‘?

(A) Begum Hazrat Mahal

(B) Begum Raziya Sultan

(C) Begum Jahanara

(D) Begum Meherunnissa

Q49

Q50

Q51

Q52

T uRY w1 A e Fwrerd
wifeai’ e Hax Fars ard wifsat @
fay wfvg &7

(A) TR

(B) d&TH

(€) "o

(D) warTr (o)

T8 @9 9 oY 3ix da & el
1 U A HeEw e
or?

(A) e

(B) IPEH

(C) wferam™

(D) gedeEr™

aftyor wwe @ e won 9 af 1741 %
Fad $ Fei § o9 w w wo
® W e ar?

(A) drraiEar FEEEE

(B) T AT A

(©) wrcfvs ot

(D) Bav 3k

g 0 Rara A 94 wfag dvar d™
1 oM a1 & RrEl 1857 @ Rew
it @ wer @1 arell werd # wr e
ar?

(A) ¥9 EONE HEA

B) ¥ AHar g

(C) ¥ SrEfamRT

(D) am HEsfar

SERIES-A-G



Q53

Q54

Q55

LM-A

The first emperor of the Mughal dynasty,
Babur, has written an autobiography in his
native tongue of Chagatai Turkic. What is
the name of this book?

(A) Mughalnama

(B) Babumama

(C) Baburmubarak

(D) Baburbihaya

When Atal Bihari Vajpayee became the
Prime Minister for his first tenure in 1996,
what was the closest approximate duration
ofhis Prime Ministership?

(A) Twodays

(B) Twoweeks

(C) Twomonths

(D) Two years

Name the celebrated physician in the court
of King Bimbisara who was the personal
physician of Lord Buddha himself.

(A) Ajathashatru

(B) Sariputta

(C) Jivaka

(D) Rahula
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Q53 Wl 49 & g WAl AWy A A

Q54

Q55

<9 Wy e qf¥e # s e
foreh 21 59 yww &1 5w 7 &7

(A) grre=rm

(B) araw=rn

(C) IAgaR®
(D) sxfawmm

1996 # 54 ared faed ared gt aw
WAL @ 9, O 9 waee @ w9
M T B T Ialy e o
(A) =1 fas

(B) ar B

(©) =1 WA

(D) < Wi

i AR & Twr § ow ufig
fafeas &1 a1 am & o s gw @
fron fafesrs o7

(A) Fyoimey

(B) wifRgw

(C) fiam

(D) wrgen
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Q56

Q57

Q58

Which of these statements is TRUE with

regard to the poem *Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) It was Tagore's first ever poem.

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayer at
Shantiniketan.

India's 5-year plan system was adopted
from Russia. Name the Russian leader who
firstimplemented the 5-year plan approach
in Russia.

(A) Vladimir Lenin

(B) Joseph Stalin

(C) Leonid Brezhnev

(D) Nikita Khrushchev

Near which European capital would you find
the Palace of Versailles?

{A) London

(B) Paris

(C) Romé

(D) Brussels

LM-A

Q56 wfeem AR g foredt g wfdan AR

Z2611565

Q57

Q58

wFwR arar & wag A Frafafe 4 4

T | HUE g8l 87

(A) 78 &R i TEeh i 6

B) &6 wf¥ar B ag § ey J AW
Y S HY H AT

(€) ¥v #fdm & fog 2R A Ada
wEsR g )

(D) TE HRar wiafda # (F w5 B
e ot |

HIe A e adfy A gl @ w6 9
ST AT o7 | S S A B T A
¢ foret el ar w9 A va afig @
® gftewm & ar & ar

(A) wnfad afF=

(B) e wifem

() forafys #ora

() Pl gee

g @1 ee ol 3§ & i gade
om @ g fua 27

(A) @&

®) e

(€) ¥
(D) W
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Q359 The two famous universities of Oxford and

Q62

LM-A

Cambridge are located in which country?
(A) France

(B) United States of America

(C) United Kingdom

(D) haly

How many total biosphere reserves are there
in India?
(A) 10
(B) 12
€ 18
(D) 25

The Dandeli Wildlife Sanctuary is located in
which Indian state?

(A) Kerala

(B) TamilNadu

(C) Telangana
(D) Karnataka

In which of these hill stations would you find
the Cheeyapara Waterfalls, Pothamedu View
point and Attukad Waterfalls?

(A) Munnar

(B) Ooty

(C) Kodaikanal

(D) Yercaud

Q59

Q60

Q61

Q62

Jaes R Pfaw ame @ ufne
faeafaene Prefafaa fr 29 % Rug
B?

(A) WG

(B) wgF woa arifta
(©) Fgds fmen
(D) seeh

NG H e e Wit Sedea
(araretay Rod) #2

(A) 10

®) 12

(€ 18

(D) 25

St gl sprawvy W @ e
ey % fer 87

(A) v

(B) afa g

(C) dwmrn

(D) Fie®

Frefefea # & v Ra R w ama
SIIRT T, W e i sigw
o e

(A) F=R

B) &

(C) sregaTa

(D) TwPrs
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Q63 Thecity of Venice, criss-crossed by canals Q63 afW weR i 78%i ol yat @ gad ©,

22751565

and bridges, is located in which country? Freifafaa fsw 2w 3 feg 82
(A) Denmark ; (A) ST

(B) Scotland (B) ®piceis

(C) France (C) wiw

D) haly (D) w&h

Q64 Mount Etna, considered to be the most Q64 WIS ve, R 4 &1 wawd wiva

active voleano of Europe, is located in: AT |/ R 8, 9% P §
(A) Portugal W fow aw ¥ Rem &2
(B) Spain (A) g
(C) Greece B) ¥
(D) Italy (C) M
(D) weeit
Q65 Ponmudi isa small hill station in South India. Q65 S, =fEr wRa @ vs ©ier 6 e
It is located near which of these cities? WY | 98 5 st & e feg 27
(A) Kozhikode (A) sift@rs
(B) Madurai ®) 7w
(C) Thiruvananthapuram (C) Rrvasiagm
f (D) Mangluru D) Hrgs

Q66 Name thecity that is the capital of Western Q66 Frafafaa 4 & @1 w1 v oRad

Australia sifesforar & womrEh 27
(A) Darwin (A) =fd=

(B) Perth B) ool

(C) Brisbane (C) favdm

(D) Hobart (D) sEE
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Q67

Q68

Q69

Q70

Article 161 of the Indian Constitution confers

pardoning powers and commutation of
SENIENce POwers on:

(A) The President of India

(B) The Prime Minister of India

(C) The govemors of various states

(D) The Chief Justice of India

Articles § to 11 of the Indian Constitution
deal with which of these aspects?

(A) Citizenship of India

(B) Languages in India

(C) Boundaries of Indian states

(D) Education for children

As of April 2019, who is the Governor of
the state of Maharashtra?

(A) E.S.L.Narasimhan

(B) C Vidyasagar Rao

(C) Palanisamy Sathasivam

(D) Anandiben Patel

What does article 300A of the Indian

Constitution aim 1o guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
marital rights.

(C) No person shall be deprived of his
property.

(D) No person shall be deprived of his
privacy.

LM-A

22531565
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Q67

Q69

AR HWME B AT 161 B ATER
Frfoftaa % 9 @59 war a6 &A@
o # #-nY Fe o uf w7
(A) ra & IR

(B) WRa & WEITHA]

(©) Rf= vl @& waurE

(D) wRA & §& FEm

qdg w@fdum & aqwe 59 11
Frefofaa § 2 fvg usq @ wiftm &7
(A) 9Ra & AR

(B) e # sl

(C) Wl ot @ Sl

(D) w==at & forg Rwem

il 2019 TF IR TSN @ AR
BRI ¥ & Yo H 87

(A) SRy, e

(B) ¥ REmarm @

(C) Tarar waftam

(D) WA w2

TR wRE 1 AT 300A

frafaftga # @ Rwah & an 27

(A) ®E it @fam o e 9 dfa
T8 @ |

B) o1 H w=fdw s dafts sfeR!
| dftm w161 <@ |

(€) @i N afdw aw wufty | afm
el ¥R |

(D) # 0 wfda o Fromr (wgad)
¥ dfea T8 @)
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Q71

Q72

Q73

Q74

Articles 324-329 of the Indian Constitution
deal with which of these aspects?

(A) Elections

(B) Minorities’ protection

(C) Panchayats

(D) Powers of'a governor

Currently, what is the highest percentage slab
for the new tax regime called Goods and
Services Tax (GST)?

(A) 18%

(B) 25%

(C) 28%

(D) 32%

Bezwada Wilson is a social activist who was
awarded the Ramon Magsaysay Award in
2016. What is his sphere of social activity?
(A) Emdication of child labour

(B) Eradication of female infanticide

(C) Eradication of manual scavenging

(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic
cruise missile called Brah Mos?

(A) France

(B) China

(C) Japan

(D) Russia

- LM-A

8
E
N
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Q71

Q72

Q73

Q74

W wfEm & agwis 324-329
Ffofaa 4 & 5w geq & walm 27
(A) gT4

(B) IreTHED 6 [

(C) warrd

(D) & Iroqure @t afder

T ¥ aw) @ dar w (99 U
Al w1 (GST)) M =18 @ Jawen
& fo seaom uftree v faaan &7
(A) 18%

(B) 25%

(C) 28%

D) 32%

el few ve wrfores srieal &

o1 2016 % W AR QR A W

fear man o) 98 Frafoafeaa & & e

&3 # I wrfre wffafe s &

(A) o7 =7 T I

(B) ®=ar o1 T T S

(C) #orer whdfSir (ma 9 fasam ganr
HETE ) B T

(D) et fare o1 S

Brah Mos W& {uedif® w9 fage
! RaRm 3 & fog ava P dn &
Y ey &m a5 wE 87

(A) wi|

B) =@

(C) W

(D) ®¥
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Q75 Prime Minister Narendra Modi addressesthe Q75 Wa=#al -iig #ial U f3ar wanmr &

nation through his radio broadcast called R | W B e s & o e
‘Mann ki Baat'. When did this program get @ 91 S8l AT 8| T8 IREA Ee
aired for the first time? TR Tq wEfe ga?

(A) October 2014 (A) IFER2014

(B) October2015 (B) Iw@¥2015

(C) October 2016 (C) s 2016

(D) October 2017 (D) Siqax 2017

&
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I.I

SECTION-3| GENERAL SCIENCE / ARITHMETIC | 50 QUESTIONS

Q76 An accurate clock shows 9 o’clock in the
. moming. Through how many degrees would
| the hour hand have rotated when the clock
shows 3 o'clock in the afternoon?
(A) 150°
®) 155°
(C) 175°
(D) 180°

CHGLEFIE

Q77 Ifastraight line intersects the sides AB and

AC of a AABC at D and E respectively
AE

ac !

|
|
| and is parallel to BC, then
|I
AD

EC
AD

DB

AD

AB

DE
BC

(A)
(B)
(©)

(D)

Q78 A system of two linear equations in two
variables is inconsistent if their graphs:

(A) cutthe X axis

(B) cuttheyaxis

(C) coincide

(D) donot intersect at any point

If 9 =45 thencos®d +sec? =7
(A) 0

®) 1

©) 2

(D) 2.5

S Q79

LM-A
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Q76 TU® WiP TSl YA€ 9 9 3T W Rwreh
g1 e g e @ 3 99 Rarh &
o2 o ¥8 oo fof w gfe
(A) 150°
B) 155°
(©) 175°
(D) 180°

Q77 aft & w1 A ABC & 4o AB iR
AC !, = ¥ ¥@r D3l Ew @

el & 3R 98 BC & waFiay & &
AE

AC T

AD
EC
AD
DB
AD
AB

DE
BC

(A)
(B)

©

D)

2 Y SO @ U Wil &1 WY
e § At v I

(A) x 381 B

(B) y 3 B

(C) 3% B (coincide)

(D) Tl 7 fiig e wforesg =1 =¥

Q78

afg 0 =45° 8, o cos? 0 +sec’ 6 =7
A) 0

B 1

© 2

(D) 2.5

Q79
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Q80

Q81

Q82

Q83

QB4

LM-A

Ifthe system 6x—2y=3,kx—y=2 hasa
unigue solution, then:

(A) k#3

B) k=3

(C) k #4

D) k=4

The square of any number is divided by 4,
then the remainder is:

(A) | =

B) 0

(C) either 1l or0

(D) neither | nor0 o
While resolving 1500 into two factors, the
possible number of ways is:

(A) 12

(B) 18

(©) 36

(D) 24

The ratio of Amit’s age and Anu’s age, nine
years ago was 5 : 7. Then 5 years from now,
which of the following CANNOT be the
ratio of their ages?

(A) 13:19

(B) 11:13

(C) 15:16

(D) 21:25

Each of the interior angles of a cyclic
polygon with ‘n’ sidns measures 144°. Then,
the measure of the angle subtended by each
of its side at the geometric centre of the
polygonis:

(A) 30°

(B) 144°

(C) 54°

(D) 36°

30

Q80

3
2Q8l
&

Q82

Q83

Q84

I womel 6x—2y =3, kx—y=2 & U
Afgeia (gfep) &t & an

(A) k #3

(B) k=3

(C) k=4

(D) k=4

e it wemm @ vt @ 49 fFafee
el W e 99 aw=an 87

(A) 1

B) 0

(C) Arlamaro

D) 71aR T80

1500 &1 &7 vE @l | o e
aaiel & ffor feam o weear 87
(A) 12

(B) 18

(C) 36

(D) 24

& o gga, aifva siv o & anyg @
UM S: 79 @l 39 W 5 A WE,
Prafofaa & 3 @9 W 97 ag @
T T8 81 W 87

(A) 13:19

®) 11:13

(C) 15:16

D) 21:25

‘n’ YOIl ATl U whid agew (Wgides
dfef) @ g siaRs Por a1 A
144° &) ¥, 95w @ Uil @ W
FH YA N G Y TG BT B
LI s B

(A) 30°

(B) 144°

(C) 54°

(D) 36°
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Q85

Q86

Q87

Q88

if S0 8-33mEH2 1 then 9 cane:
cos” @

(A) 45°

®) 60°

© 30°

(D) 0°

Club A had won 30% of the first 60 matches
it had played in a particular season. Then
the minimum possible number of additional
matches the Club A should play to achieve
a success rate of 44% in that season is:
(A) 15

(B) 20

(C) 30

(D) 25

What was the name of the mission, an anti-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram

(B) Mission Shakti

(C) Mission Vikram

(D) Mission Sahas

What is the application of the GSAT-31
satellite launched by India on 6 February
20197

(A) Earth observation

(B) Navigation

(C) Climate and Environment

(D) Communication

LM-A

= JL A
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Q85

Q86

Q87

Q88

3 b
aﬁ sin Bh]:mﬂ+2=lﬁfﬁﬂﬁiﬂ$

cos &
WAy B?
(A) 45°
(B) 60°
(C) 30°
(D) 0°

oM AF e e # @9 v uEd 60
et 3 A 30% fa o & o gom AW
W W 4 44% B Thaar % B
& @ fag e sfoRe <om e
wea wfde?

(A) 15

(B) 20

(C) 30

(D) 25

DRDO gwr 27 wrd 2019 &1 & vd
FH dAM g g ofww W,
awead® TA-Heenge Mg v
far war an, g9 fww & 9w ®0 AR
(A) fe= s
(B) e ofd
(C) o= Rww
(D) e wmew

6 BYEN 2019 F ARG gRT i e g
GSAT-31 9uus &1 Freafofaa 4 @ @9
o1 w87

(A) Jel 1 Sacs

B) el

(C) wrerary i aramawer

(D) HaR
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Q91

Q93

Name the nuclear-capable surface-to-
surface intercontinental ballistic missile
developed by the Defence Research and
Development Organisation (DRDO).

(A) Prithvi ITI

(B) Trishul

(C) Agni5

(D) Barak-8

Which of the following is a part of the
process involved in water cycle?

(A) Evaporation

(B) Sublimation

(C) Freezing

(D) Melting

Deficiency of which mineral causes anaemia?
(A) Magnesium

(B) Iron

©) Znc

(D) Lead

Which of the following is a commaonly used
chemical method for purifying water?

{A) Hibemafion

(B) Excavation

(C) Chlorination

(D) Denitrificats

Which of the following is the source of
freshwater?

(A) Ocean

(B) Sea

(C) Brinc

(D) River

LM-A

SO5 LBITE

32

Q91

Q92

Q93

o FEaE 3R Rsm Wmes (DRDO)
BT WaE ¥ waw w Rafhn ger—wm
Fm-—AeRdy efes faga & @
o 27

(A) Tt

®) P
(C) aftq 5

(D) wU%-8

fFrefaftea 4 9 P O vfvar o9 a5 9
mite uftsar &1 va e #7

(A) i

(B) SHURTE

(C) e

D) fae=

Frafaft 3 & fa @S (mineral) &
A ¥ i e 87

(A) FHftam

(B) e

(C) S

(D) ¥

T W gE o @ v ariv o
R o o g vaafe afer
e dasm wm &7

(A) Hoffsam (Egavim)

(B) Sc@ T (TawaaTF)

(C) T - raww

(D) IFTgEIBY

Frafofe # & & 0 ol &1 e
o7 Wi 87

(A) WeTETTR

(B) \rR

(C) @ g

D) 79
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Q94

Q95

Q96

LM-A

Which of the following is a good source of
vitaminA?

(A) Fishoil

(B) Sugar

{C) Banana

(D) Coconut oil

Sound CANNOT travel through:
(A) Gas
(B) Vacuum

(C) Liquid
(D) Metal

Which form of energy causes a matchstick
to ignite into a bright flame when the
matchstick is struck against the match box
surface?

(A) Potential energy

(B) Kinetic energy

(C) Chemical energy

(D) Wind energy

CGS system of measurement units stands for:
(A) Coulomb, Gauss, Steradian

(B) Celsius, Grade, Second

(C) Centiliter, Gallon, Siemens

(D) Centimetre, Gram, Second

In Electronic Communication Systems, noise

refers to:

(A) unwanted signals that tend to disturb
the transmission and processing of
message signals

(B) loud music harming the eardrums

(C) sensation of hearing that is not audible

(D) unwanted sensations that disturb
Messapes

,_i
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Q94

Q95

Q96

Q97

Q98

R da s wRafm Am
oo W 27

(A) 9! ¥ oo

B) 4=

(C) @&

(D) faa &1 o

@ frefoafaa % | e wwgm 3§ T
T8 I wea 87

(A)

B)

(C) ¥

®) &g

mifw @ faell 9 wag | o wfow A
el =woch & o o9 F1 P W W
S auEel ot # usafaa 89 & SR
w87

(A) Ruferer ot

(B) nftrar St

(C) wrarafrs Sl

(D) aryg el

W gigal A CGS women ot e
A § gl &7

(A) T, 7E, Tiean

(B) ¥fcwzw, s, ¥

(C) wfeferer, e, Wnia

(D) ¥R, 7MW, e

ot waw yonferdt A wiR Pt

i @ fady wafifa o 87

(A) Faifsa Rreea ot w2 Rraea &
WHRY 3R wRiwnYr # aEr sen

(B) &F! B FHaE TETF are O
wifta

(C) & @ g = g a8

(D) Iaifa Tag=y w1 |@ant 3 awr
el 8
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Q99

Q100

Q101

Q102

LM-A

Which of the following is TRUE about the

process of evaporation?

(A) Iltdoes not depend upon humidity level.

(B) ltincreases with increase in surface
area.

(C) ltdecreases with increase in wind
speed.

(D) Itdecreases with increase in
temperature.

Plaster of Paris is a product of:
(A) magnesium

(B) shuminium

(C) cakium

(D) sodium

Which of the following statements is TRUE

about natural rubber?

(A) Itisanatural polymer and possesses
elastic properties.

(B) Iltisanartificial polymer and possesses
elastic properties.

(C) Itisnota polymer but pussesses elastic
properties.

(D) Itisanatural polymer but does not
possess elastic properties.

Which of the following is a form of calcium
carbonate?

(A) Washing soda

(B) Bakingsoda

(C) Limestone

(D) Table Salt

Z2E51001
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Q99 amfimwer i ufbar & an # Frafafea

4R FE a2

(A) T8 0 & " W Pl 7 &wh &

(B) T® wae @ &= A gfy &9 w agd
2l

(C) @& a1 @ nfy A gl € W we
oIl #

(D) 7E e A gl 89 uv ge ard
21

Q100 e e 9w Frefofan 4 9 e

U$ IS B?
(A) #+hfdnm
®) AR
(C) dfcTam
(D) wifeam

Q101 wgfoew v & an # Freifafea ¥ &

P | FuE ) 87

(A) 7% & wighos ageas & o g
drEar v 81§

(B) TF U% FiAW qges & M g
drEer U &)

(C) gE & agarw 8 &, afd gwl
drEer 1o &)

(D) TE & wigfis agers & S g
drEer o T8 B &)

Q102 Fr=fafes § 9 o w Hfaaem wEFe

T UH WY 87
(A) dif¥r wrar
B) a7 e
(C) TR
(D) 2= wice ()
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Q103

Q104

Q105

Dietary intake of is essential for
the normal functioning of thyroid gland.
(A) sodium

(B) calcium

(C) wdine

(D) potassium

Which microorganism is Penicillin obtained
from?

(A) Amoeba

(B) Virus

{(C) Protozoa

(D) Fungi

Which of the following diseases is caused
by the deficiency of vitamin A?

(A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagr

Q106 Which of the following diseases is caused

Q107

by the deficiency of vitamin B (thiamin)?
(A) Rickets

(B) Beriberi

(C) Nightblindness

(D) Pellagra

Which among the following is a vitamin
deficiency disease in which dark red patches
oceur on face, neck, hands, calves and feet?
(A) Pellagra
(B) Thyroid
(C) Anemia
(D) Keshan

LM-A
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Q103 ag, (amRigs) U/ & |HEFG BHST
@ forv amer ¥ FPrafafaa § 9 fae
A SN Ao B2
(A) afEaw
(B) #feeram
(C) Imars
(D) drefirmy

Q104 dfafafem frm werchia & wa g &7
(A) v
(B) farop
(C) Wieratan
() T9F

Q105 R\ A® &0 9 F=fofaa 4 9
@Y= | 9 wer &2
(A) Raew
(B) wndl
(C) welfeh
(D) Y&

Q106 faef= B1 (Rramfi=) & &0 ¥
Fr=ifefe & | =% =7 < &ar 87
(A) Raew
(B) #9949
(C) wlrh
(D) Y&mm

Q107 Fr=faftes # & 19 v Refim & ah
& oRv BW aren I & Rl A,
e, e AR R W™ o o T @
) g o &7
(A) U&Emmn
(B) umRias
(C) witfm
(D) &=
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Q108

Q109

Q110

Qlll

Q112

Blood enters the kidney through the:
(A) renalartery

(B) external iliac artery

(C) axillary anery

(D) ulnarartery

Which among the following organs secretes
bile juice?

(A) Heart

(B) Brain

(C) Kidney

(D) Liver

Which among the following diseases is very
rare in women as compared 1o its occurrence
nmen?

(A) Myopia

(B) Kidncy stone

{(C) Braintumor

(D) Colourblindness

Haemoglobin is the protein inside red blood
cells that carries:

(A) oxygen

(B) carbon dioxide

(C) nitrogen

(D) ozone

Which of the following is equal to
8.13 x 107

(A) 831000

(B) 8310000

(C) 813000

(D) 8130000

36

Q108 freh swfa & A wou fr=fafea § @

fw wmam | wdw @ &7
(A) 775 il

B) Y giva o

(C) ==y (vfawad) awh
(D) iyt (@ew) a9

Q109 Fr=iferftrn st # 9 &= w1 3 e @

@1 WA s &7
(A) &84

B) whers
(C) Tt

(D) @

Q110 Fr=fafe A @ @ wr 9 gont &)

QIll

L2100

g A wftanil § aga an o &7
(A) Fraregite 2 (i)

(B) f&af 4 qerd)

(C) #1 TP

(D) Toiferan (B =)

frrafia o o it # s
T F NN R AR v Preafafea 4

Q112 Fy=fafaa 4 9 99 w1 Ao

8.13 x 10* & qwraw &7
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000
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Q113

Q114

Q115

Q116

When 0.353535... is converted into a -

fraction, then the result is:
]_5
99

35
100

15
)5

(A)

(B)

1
fD}E

What is the HCF of 2*x3°x5%x 7,
233 xS xFPand P2x3x5x7T 7

(A) 210

(B) 420

(€) 1005

(D) 1050

Solve the following.

Ol ol

(©)

D)

Sl O -

A number is as much greater than S5 as it is
lesser than 79. The number is:

(A) 59

(B) 63

(C) 65

(D) 67

LM-A

Q113

Q114

Q115

o 0.353535... & =1 | e o 8,
& wRoms =1 Em?

35

99

35

100

15

19

1
fD}':,;

(A)
B)

(©)

PxPxFx7, 2xFx5Fx TP AR
2% 3% 5 x T’ F1 WETH ENIEID
(HCF) o1 %7

(A) 210

(B) 420

(C) 1005

(D) 1050

fr=faftan @1 sa &3

\[3_?_1”
v i

Olwv O

(©)

®)

Sl w|—

Q116 U® |, 559 Ia-1 & 781 & o &

TE 79F 91 ® | HEm o |
(A) 59
(B) 63
(C) 65
(D) 67
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Q17

Q118

Q119

Q120

LM-A

The sum of three consecutive numbers is 96.
The greatest among these three numbers is:
(A) 28
(B) 31
(C) 33
(D) 43

Q117 wmar &= Wit & 9 9%6 &) &=

A HemRil § wad a8 vam o @ 27
(A) 28
(B) 31
{C) 33
(D) 43

Which of the options will come in place of § Q118 F=fefaa wiww W ywfag (7) &

the question mark (?) in the following

equation?

IES%I&HB—?:-:ZZI
T-6x6-3

(A) 16

(B) 49

(C) 60

(D) 128

1000 boys and 600 girls are examined ina
test. 43% of the boys and 35% of the girls
passed. The percentage of the number of
candidates who failed is:

(A) 40%

(B) 50%

(C) 58%

(D) 60%

A finishes a work in @ days and B finishes
the same work in 18 days. In how many
days will they together finish the same work?
(A) Jdays
(B) 6days
(C) 8days
(D) 9days

&

38

wiE o Fferfee 4 @ 9 o faws
FT?

128 +16x3-Tx2

T-6x6-3

(A) 16

(B) 49

(C) 60

(D) 128

Q119 Tt wdienm # 1000 e@d v 600 dfdal

o1 gdan oft wreft # | deel 4 § 43% s
erefal 7 |/ 35% uw €9 & o 8F
ar BTEl &1 e ufnre
2|

(A) 40%

(B) 50%

(C) 58%

(D) 60%

Q120 A R & w1 9 Ry ¥ a1 awen & afw

B S¥ @ @ 18 A% A qu wven 81 A
arf e fre @y oW wm @) A e
Qa1 7

(A) 3fg=

(B) 6

(C) 8fas

(D) 9f2=
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| Q121 How many minutes will Preethi take to cover Q121 af? dife 30 km/hr =1 71ieT & <tech 8, o

a distance of 500 m, if she runs at a speed of 9 500 m B N DI 79 FA | fen
30 km/hr? i dm?
{A) Imin (A) 1 min

.L (B) 2min (B) 2Zmin

| (€) Smin (C) Smin

| (D) 6min (D) 6min

|

Q122 Whichofthe followingcarswithspeedgiven 3 Q122 1Rt & 7§ nfty areht Pr=fofls Rew

(1 5]

below is the fastest? - # @ @9 W R G949 o &7
* (A) 90 km/hr (A) 90 km/hr

(B) 25 m/sec (B) 25 m/sec

(C) 1500 m/min (C) 1500 m/min

(D) 100 km/hr (D) 100 km/hr

Q123 Asolidrightcircularcylinderhasaradiusof Q123 (& 1 &4 g 4= @1 3901 21 em

21 emand height of 16 cm. What is its curved st wud 16cm 8| THS TH WAl
surface area? (curved surface) &A% T A B |
| (A) 2000cm? (A) 2000cm?
(B) 2002 cm? (B) 2002 cm?
(C) 2010¢em? (C) 2010em?
(D) 2112em? (D) 2112¢cm?
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Ql24

Two pipes Aand B can fill a tank in 16 hours
and 48 hours respectively. If both the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10hours

(B) 12hours

(C) 15hours

(D) 16hours

Q124 A3lr B & uigy f5eh 3 &1 1662 afiw

48 6, waw A WY waa ) oy oW
UEY (S WY | iy o &t e B
WA A e v @ie?

(A) 102

(B) 1262

(C) 156

D) 1662

Q125 At present, the ratio between the agesof Q125 @™ % fwm afv fasa # amg @

LM-A

Vimal and Vinay is 4 : 5. After 6 years,
Vimal's age will be 26 years. What is Vinay's
age at present?

(A) 20 years

(B) 21 years

(C) 25 years

(D) 30years

40

Fqur 4: 58| 6w 9T fAwa @ ay
26 7§ & g | adaE A e @ g
T &7

(A) 20

B) 21af

(C) 257k

(D) 30af
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Q126

Q127

Q128

Q129

LM-A

SECTION-4 | GENERAL HINDI | 25 QUESTIONS

FHA A @1 et e fean) -

IH W a/g & My arm % wus

Fr=foifiaa & & @9 W &7

(A) I9 &8l i | el g

(B) S¥+ el 3R g8 Faw Bitd g3

(C) 9uA Hel fh au ey gifta fn
g |

(D) 994 el & # ame &1 e
Hifd &Y 78 § |

favm e & war &t gfe 9 Fsfafan

# | P @y we el 87

(A) 9% §¥ 9, 98 X 9, AT @1 & |

(B) I, G, 98 M & 2|

(C)y =&, 1, T A N & W |

(D) W, A orar At &), 9% &I gdd
CRinit g

ot wreAr geray @ wel e @
2rr?

(A) Tf$at wmp oo

(B) ulRsm &v

(C) 9T Fs—d F

(D) I FHAT

A & T IRl g drnife w1 wel
e} T #7

(A) = ¥ B i wEl A g

(B) 1 wT@= # BW, 7 Wiel # @
(C) 3r¥Wd 4T

(D) Wl & 4 g9

130

Q131

Q132

Q133

PSGI

&t witwy @ sfoem @ e o9 @1
AT BTl Wl el T 87

(A) e

(B) widkiaTat

(C) “ftw=

(D) IEFH B

f=farfRaa & 9 @9 @ e gasiig™
@ A 87

(A) waRaaEa

(B) iemaeit

(C) SewriamEe

(D) HeETHAT

&t &1 gem wHER U3 BIF | o917
(A) i Ta e

(B) 94 ARIVS

(C) sReg ufzawm

(D) wvwE

&) o qo1 weufer frasy &7
(A) HATE AT

(B) SIEATER spawer

(C) &H HIHY

(D) iRE oy

frrfafiaa SEar &1 amggs S
sl a1 Y 7o weEl (v HeE 134 -
136) & IR © |

fiagan Faer 799 W 9Pl AR
@fdkied @1 Squlicd @Yol 8| 9T,
g¥iea v ufas ameer & Mia 8
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LM-A

-

Yioga @9sr wele af @ fRiv
feaee 81 599 o= o =y ged
8| i af¥ wear ggg o aar
28| fege Fasr § sgar 58 Arr
8| 590 anvid ol HiE A Refee
P 9= T B | T 0N gaE
qAERY] B Gord g 8, forad i
WA @ S e & | e sfa
FH HWoP # A g Wi |t A
HwiaT s & | e gaen vyl
giar & &5 e ord 3 e &)
dtaa T8 andft | IR@ET—ander,
ferm—fwmfl, vei-agl anfy wf &
fov Meges z@sr w9 wy |
Jaas 8 Remf § aft e &
¥ & @ 98 v e A aifa
Ry 78w wear o
AP a1 T § a9
9f& wm & 89 ard & ok we @
S Ao # welear ar ol &)
T 3 O $1 IuRefy # arfterd
i iR afmver wdaRal & 99,
Rieraror ai faenféiat & 4 o o
3l e & 9 mR AR W Wy
wifde gl € o uRw af A
Friguenn ¥ g o1 & @ B
e ¥ B9 -8l afid a9 @
weri aftfa av o 8 e o
o SR & o7 A ¥ ) 5w o @
fie fsam o W | TIRaRe wwer
&4 o1 &) e aiv Rvarfe & o
TgT 9€1 s yar wea B

2327RR12
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Q134

Q135

Q136

Q137

Fr=ifafaa % & o9 @ o= fa 3

ey # T 87

(A) Merga =Eer § g9 awamE
&1 fomfor grar &

(B) ¥ira ya &t 7ur &

(€) wRaiR® R fra o fefn
& A FEagul Yfier e §)

(D) ¥ags asr Brei-aef § |
w9 | mawEs #)

Ta ¥ Ywifeg siw & Sfm awer

B

(A) 9rer wy g7 feam i &

B) @ o @ et W i wge
e #R o &)

(C) wret et @1 wyea g € Tt A
& fare i g

(D) wrEt &1 famrsar & ast fa @
W B 2 |

eI # B 6w gunfae & fAem
7

(A) Tpafee

(B) g

(©) grfa

(D) ameieT

O ®E WEN UF, FRfEg me ar
9T U e as Rfefat =) der o
BT 8, T4 9N U BB T &7

(A) FratEa sy

(B) arfergE

(C) ITERE
(D) 9fg=m
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Q138 v Raraa A f5h w5 T ge &1

Q139

Q140

Q141

Q142

7 S §Y A @ v T w3
oife & sierfa amgm?

(A) g

(B) arfemaaita

(C) tufrrs

(D) wmafis

Prafaftr & & @ @ siowe 2o 2
(A) A
(B) 1
(C) 5
D) T

e 4 & @9 w1 = soawa
87

(A)

(B) an

(C) sh

D) ¢

o + 3 & Wy W@ 7 Sgmv 87
(A) =

(B) a2

(€) ufEg

(D) am

W fae W B IETER &7
(A) sredm

(B) gy

(C) fa7

D) &&

Q143

Ql44

Q145

Ql46

o wfal wfta g afeer -
aiea A vaifea srmg-wan Frafefa
i ¥ 5w 4T @1 gemEw ¥

(A) TH=EgaES

(B) forarfador

(C) wHauamEs

(D) fremfEams

T ¥9 Rigd ora gar 81 -
area A Ya@ifea v i & e O
& 3ferta smg?

(A) TomETES

(B) uftsmmaras

(C) widdryor

(D) WA

FPr=iferftas # | B @1 e o @
yataard &?

(A) &

(B) @

(C) wferm

(D) &g

Pretfrfera % & 2 w1 Rdm g w8
-8 &

(A) WE—amg

(B) Yg-wTEH

(C) @=—wr

(D) "G4y




Q147 TE-TE Te-g™ & fau &
g™ g |
(A) TA-TTEA
(B) TEO—A™
(C) fré-—fAameh
(D) FaTe—fre

Q148 ‘o Sfagl o Ug" A amEY 8-
g & fog Ud e Fag |
(A) sfeafom
B) s
(C) zfeawia
(D) sEEy

Q149 TH SIIE U W0 BN O w8 B -
Yaifea ug # a9 W w87
(A) B
(B) arferawo
(C) HwE™
(D) IUIRH

Q150 @1 T wr- fvm & fw ww @
FemEw 87
(A) wfeww adam
(B) W T\
(C) e i
(D) w¥E ¥
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ROUGH WORK /7% &1 & farg

ZVEREELE
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ROUGH WORK /%% &1 & faye

1]
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ROUGH WORK /7% #/d & fae

LM-A 47 SERIES-A-G




Read the following Instructions carefully :

Frfafea At &) sam | 9@ -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkencd
completely with Black Ball Poimt Pen on the OMR
Answer Sheel. The answer once marked Is not linble
to be changed

1. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
clse except in the specified space in the Answer Sheet

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided

4. The candidates will write the cormect Test Booklet
Series as given in the Test Booklet in the Attendance

5. Each candidate must show on demand his / her Admil
Card to the Invigilator

6. MNocandidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet (o the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not 1o
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
canduet in the Examination Hall, All coses of unfuir
means will be dealt with as per Rules and
Regulations of the Commission.

10, After Examination is over, candidate has 1o return his
Answer Sheet to invigilstor. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed 1o Jeave the examination hall.
Candidate is only allowed to take Candidate's copy of
answer sheel,

« Candidates nre not allowed to tnke Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.

. Weld uye @ fow R ) ar Rewt 4 |
! St & o0 3l 9. . OTR UEE W
HIA TH Mel B 8 g ave @l 91 uige
U4 9 W) U I I Sifd e om @
914 I TS A8 O Wl £}
gdemd yRftaa 3 & Sov uFE @ A
7 WU U9 96 W a8 3= e | @i
afieelt o argEie ST uEe § Peifa
Wi & sfaRe sras =1 fowd
qdEr qRtadt Ud 9T 9Fe @ earigds
g &, w5 O ofiftafy § @aw
qE gRA®T § T e ) g gde
YREHT @ ST UE® SUAE A8 Bl
AT
4. T gieres A R gdan gfitas Wi
® el wE add @ auftafa e B

faad

zigwooL

o
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